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® AHIEZEAM (Time Series Analysis)
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m HZEE AAEXLE(Non Stationary

Series)

- NI BN CHRY| ofzie

MAE T2 (CHEEL AMAEXER)
m BEY MAEXLE (Stationary Series)
- HIEY AMAEE HEHSH CHR 7|
FH2 AMAHE K22 HESHXIE
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2 s 22 712
- FHAAA o] ofl AL EH|Ze

m JEMAERE HEYHE
- 0| YHEIX| 2= MAH G2
XH2 (difference) 2 S H&3}
- AE22 SAE X=oM H AE RERE

_ A=

- YHHXHE (regular difference): HI2 O|H
AlEe Xt=E W= A

- HEXZ (seasonal difference): 0{2] A|H
o XtRE W= A FE AEEE #E
A2 E EYS5ts o AE

- =uho] @FSHX| E= AMAES
H EH(transformation) 2 2 &3}

- HE2 2OEE Nl HE S S
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ST, AAY 2oy BE

- X7|5|H 2H(AREEH, AutoRegressive model)

dEEE 7P85Ia Mgt 2 Y
- X721 2 ( ARZEE, AutoRegressive model)
- O|FE#R2Y (MAEZE, Moving Average model)

HIES AMAIEO AHESHE 2€

- X7|ZH5Ho|SEHA 2¥ ARIMA(p,d,q) 2F
(AutoRegressive Interated Moving Average model)

- ARIMA 22 HZSAIAE 2¢
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L$J m FMR2Q(Trend factor)

m EHA|AH Eo|Rt - AMAE xzof TS F= F7l HSeel 238
- AA ol FS T YUEQ 22 AASAHAM - AMAE o2 O8E XS il O HEf7t LEAHL}
=E|o] EM5t= YHEHE 20| BEE 471X 242 Hels F=ME HEEs B2
T4 - B2l M XSH2E F/HA EE EFE
JEHE SRSt 4
Decomposition of multiplicative time series m A= 29l(Seasonal factor)
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® AMHIEH HSO SF

» =MIHS ( Trend Movement : T)

A)|HSO| MUIMHOI FNH (A, TMMO| =HE Yol A KISH A2
» =2 = ( Cyclical Fluctuation : C)
gds )| 8101 EJ1A (149 01&9 2tH)2 = UEILU= |AIGH 2SS
» HHIAYM S ( Seasonal Variation : S )
149 FJ|= HIE0 W ES0lEl= ¥s
» EE/SLABM ST ( Irregular Movement / Random Variation : I)
= SISt Ao Oz SHAH ZH A0l o =HA
« JPHIP Y ( Additive Model ) Y(&EQFE)=T+C+S+1
- B ( Multiplicative Model ) Y(FQE) =TxCxSxI
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ZME4A ( Trend Analysis )

IOl BIIN HS FSYEHA)S THOI0 D142 +8
> ENIMO| HEE MEOH= 20| IHY 58

® ZHENHO =5

\ ESe

I

0%

OR - (Freehand Method )

&2 (Moving Average Method )

=
1> O A
O OB [f

® Xl

@ XA X}

=
2 (Exponential Smoothing Method)
= (Least-squares Method )
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IHH 2812t 20| X8 BAAM U= 712 &S IS0l SH
- SE% FUNES, HEYS, =3bs 2 Q0210]| gis Il ¥E Jis

Tt 0|S™2Y (Simple Moving Average Method)

| Ft: J12vt 9 2 M52
2 At At-i @ J1Z () O ARl S0
n: 4dd0t= J12t =

ht =-=5

1= 1™ 28 (Weighted Moving Average Method)

WAL + W2AE2 + eee + ppAtn [t: 212t =R HMZS
= Wi+ W2 + eee + Uh At-i 1 JIZH(ti) Of &Hl =23
wi: JESXI
[2, i > N2 > eee > |h ]
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OS2 37182WE M=, Tiidls (F)EEY X 5018 S22 T Xtz 010
689 & (I=0l O3 20

= 1 2 3 4 0
THIH = 900 700 800 890 820

S=0|SHIBO HE (413)
4 700 + 800 + 850 + 820
Fe = Zﬁtl _ = 792.5
4

IIS0ISBZEY HE (4HE)
HNE 22| Xt=0fl et JFS XL 424 0.4,0.3,0.2, 0.1

WiAt-1 + W2At-2 + eee + NAt-n
Wi+ W2 + eee + Uh

Ft =

(0.4 x 820)+(0.3 x 850)+(0.2 x 800)+(0.1 x 700)
0.4+0.3+0.2+0.1

= 813
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Ft = Ft1 + o(At1— Fe1) = 0At1+(1-a) Pt

[Ba:B8AF(0=<a <1)]

’ mm):“-&_l II-I >

- HEF271 S0tE0 A2 (MHIZ2 M
:07-08 = 01I§° 43 &E E EI
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[3]1 XA XS H (

2| a2sHE

(1/2)

| east-squares Method )

- 2 MIXIe OIS XIR4C| T} (&) XS S0 AT} El= FHUS
&1l 0I1= S0l OIcH =25 =0l 28
- o +=QHFSE FNBUSUCE (IZ0ld= B
Quantit\r'h
y=a+bx
[=MHA)
» time
_nZXiyi-ZXiZyi _ S(xi—x)(yi=y) Sxy
n2 Xit- (22X )? S(xi-X) Sxx
2yi-bl2ixi _ _ . _
a= = = )y - bx
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4 @O A (2)& Ol <ok
Zyi=an+bzxi = (1)
Zxiyi=azxi +b2x; A Q@)

012l 4= HEOIH =M

B

nIXYi-IXZYi 2(xi—x)(yi- ,v)
nEx? - (Zxi ) | | Z(xi-x )|

Jyi-bXIX . \
a= A = ¥ - bx |

Exiz _2 (E:'l} (Exi)
(T x;)
=Y x# = E%Zl Yx;? — (in)z
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N A4 B (1/3)

(F)H2AHXO] PDP-TVOl TH=2 1t 01240] THIII LSt E UL
0l XI=E EUE (I} 012] ALOI0l HEE =+ A= FHUS 0t

=

1 21 3|4 |5 |6 |78 11 | 12

w
—
o

OH & 24 (2 2HA) x 712 |6 |4 |14 |15 |16 |12 |14 |20 | 25| 7

0 () y 15 |10 |13 | 15| 25 | 27 | 24 | 20 | 27 | 44 | 34 | 17

50 -
o
S 45 - &
40 - y @ 1.2841x + 7.3882
35 -+
30 - +bx
25 - *Y
Y =X
o e Y O=3l
_)wﬂf:d (Y O:|| i|)
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} A 24 B (2/3)

1
1 1 19 105 49
2 2 10 20 4
3 6 13 78 36
4 4 15 60 16
5 14 25 350 196
6 15 27 405 225
7 16 24 384 256
8 12 20 240 144
g 14 27 378 196
10 20 44 880 400
11 15 34 510 225
12 7 17 119 49
e A 132 271 3529 1796
b nSXiyi-ZXiZ Y _ (12 x 3529) - (132 x 271) g
n2 xi%-(2xi)? (12 x 1796) - (132 x 132)
» - 271 - (1.593 x 132
a= Zy;n b2xi _ (12 ) = 5.060

.. y=a+bx=>5.060+ 1.593 x

nipa 3= 5448758 o> EPgEHAL3 IKBCI FEnasanass




Aref|=4 B (3/3)

v Xg) 2 Zf “ZHHE 0l ot H2

ac =01 us Xi Vi Xi*2 Xi Vi
= 1996 | -2 | 436 4| -872
}ggs :33 1997 =1 470 1 -470
1998 510 1998 0 519 0 0
2000 639 2000 2 639 4 1278
=19, | 0 2642 10 914
2‘%5 =0
Zyi—”a—ézxzzo —'-'.a—éyi—;_Szg
i=1 i=1 Fi

] H H 7 ny
LAy—ay by xT=0 L S
i=1 i=1 i=1 ’

co =204 T ol 4%

-
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[1]1 +R0=2 S8 BT
> HIZ 2K (E) = AHFRAV HIZSR(FLA| 0|
» DL 3B 245 I0 WS 6IS71H STA0| ZojRE 0|

M= 2xto| WMol

» =H0IZ= 2Kt (RSFE : Running Sum of Forecast Error) RSFE = Z(At-Ft)

» WA= 2K (MFE : Mean Forecast Error) - 2(At - FY)

n

I=2xtol 371

» I F Kt (MAD : Mean Absolute Deviation) MAD = Z | At—Ft|

n

) WREHWMEE X (MAPE : Mean Absolute Percent Error)
MAPE = —1 ik
— 0
= {z - }x 100 (%)
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y=a+ bx
(F=MIA)

AlZt
yvi=a+ bxi+ &
&= yi-a-bxi
Se? =5(yi-a-bx)
) 2 5
aiaef= ;a S(yi-a-bxi)=0 © Sy-an-bSx=0-——- (1)
p2e?_ 9

b T o S(yi-a-bxiY=0 o Sxiyi-aSxi-bZx?=0 — 8@
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0= d587H3/3)

[2] =HXIHE 0128 IS &l

o« Z=HMX|H : Tracking Signal
« OISO B0 YHDH X2

201 -1

= =10t *=XIE LIEHH
o« SHZ2XIE MADE U= A

TS = Z(At-Ft) RSFE _ (nxBias)
MAD MAD MAD

# ZEXIEQ 201 101 OLM A O SHTHE WI|J} 240D USS 20l

- 90| gt : AN Y| =y
- 89| & : LISl mI| =1y

# ZHIEE (150 BT MAYS Z20 AL

UCL &
- - [ + 4AMAD
o - + AMAD

7 g E 10 11 12
&
l - 4MAD
LCL ~ o
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Xt U= QiFE Hl= X2t & H Xl 2 IFOI 2 1]
He 2 A D2t s¢ HSXIZ 2 MK A= PN
) B2E L XHMAD, mean absolute dewahon)ﬂ
) S H M =2XHRSFE)E I:IID;_OHH =X X| E (tracing
signal)E HMEL FEXNE= HE /’\Iﬁloz' S HE 0l
M= 2| Aefl otefll HotE 0L & BHHoID U
= A& 2 =CF.

- HEHSEAM: HEHSS EEl0l= S JHX (1) J18EAH &
H =(additive seasonal variation)3t (2) SEHEHEHS
(multiplicative seasonal variation)O| JUCH. (1) JIEHE
HESUAE "FH + HE” 2242 0|18l =28 H=
SICH (2) SHAHZEBSHAN=E "=A x HE" SAZ 0

E0tH =2 W=¢etLt.

2
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o
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» HE7te] X[ 40| 8¢t =8 M A| =50]
- ol e QS B E 0|5
- W, WAL ELX|, ZAX]
- 3B Y, Ha7|, wety| o o3t HE
» A7} & 9 CHO{ A BOI|M PR 7 CHO| 7152
- E% A7t} Empof| B CHO{ &0 A XA CHO| 2= 0f| F
- LIO}QI= X}pH A7} Q1 =7}

|tripduralic_|s‘.am:me

3117 8/1/2015 011915
690 8/1,/2015 01:27:30
727 8/1/2015 01:38:49
698 8/1/2015 060641
357 8/1/2015 0E:24.29
597 8/1,/2015 074609

1248 8/1/2015 0B:02:58

nipa s=5442

e

stoptime

8/1/2015 02:11:12
8/1/2015 01:39:00
8/1/2015 01:50:57
8/1/2015 06:18:20
8/1/2015 06:3021
8/1/2015 07:56106
8/1/2015 08:2347

21

-

start station id

=
J'—,H

start station name
307 E 2 5t & Avenue B
307 E 2 5t & Avenue B
3017 E 2 5t & Avenue B
307 E 2 5t & Avenue B
307 E 2 5t & Avenue B
301 E 2 5t & Avenue B
307 E 2 5t & Avenue B

8 3EHIALL3

start station latitucstant station longitu end statio end statio end statio end statio bikeid

4072217444
4072277444
40.72217444
4072217444
40.72217444
4072217444
4072217444

~73.98368779
-73.98368779

73.98368779
-73.98368779

73.98368779
-73.98368779
-73.98368779

IKBCI

i

Fy
:
g

IME251&A
349 Rivington

2070 /Grand 5t {

527 E33 St &
250 Lafayette ¢
497 E 17 5t &
5056 Ave &\

0

3

2
4l
El

A

loc

4072217

40,7185
40.72165
4074402
40.72456
40.73705
4074901

-71.9837
-713.9833

74.0023
-73.9761
-73.95957
-73.950M
-73.9885

18070 Subscriber
19699 Subscriber
20953 Subscriber
23566 Subscriber
17545 Subscriber
17435 Subscribet
18236 Subscribes

usertype birth year gender

1586
1985
1982
1976
13959
1979
1987

ki | | vl | ah



Kagge Citi bike +£20{|= 4 2ICH 2|

» 2015F 8& O|O| E
» Citibike = mglearn.datasets.load_citibike() #248 M &

» Print( " A|E| HFO| 3 O|O|E{:\n{} " .format(citibike.head()))
* A|E| H}O| 3 H|O|E{: starttime #3*I7f TP 2 O = A4k

* Index , Sl ~

- 2015-08-01 00:00:00 3 Ml% Hﬂ ﬁ\h,h\wu I || r'iln |\||'

= 2015-08-01 03:00:00 0
= 2015-08-01 06:00:00 9

= |': :'_.; 3 B . ra ka2 R A

@ oW W @ W u'\ o o W g o 4'-_| o o J- o @ o o

oo o 4 o090 '_1 =] _-, '_1 r_' o & u L, _7- :_1 u u : |_‘ 0 00 QO O a0 o a4

] 201 5_08_01 09 » 00 L 00 41 W A E Ao MMME Wi AWME R A@MmE d W0
] | | L

= 2015-08-01 12:00:00 39
. , Name: one, dtype: int64
- 88 E1I0IE1 S, TEHO =1, 22%, 52% 50| =7 FO{EL If

nipa 325048558 o> EPgEHAL3 IKBCI FEnasanass




$e 1 Citi bike data 23

» A AE HIO]H
- O|H Ate| HlO|E{E EHO 2 ALBSI0 I S S

» y = citibike.values
“# ERl4 =& (HH =l
» X = citibike.index.astype(”"int64").values.reshape(-1, 1)
- # astype(x)=>Z}g xBH= Et O 2 HA
- QA A ZF2 64H|E Fr2 HEt 2 ETLH|OHE ALE
* [[1438387200] [1438398000] [1438408800] [1438419600]
[1438430400] [1438441200] [1438452000] [1438462800]
[1438473600] [1438484400] [1438495200]

- £ 1 184(23Y) A8, H2E 64(8Y) AL

nipa s=5LA6zE8 > E3EHIALT IKBCI Enansnase



b 'gressor = RandomForestRegressor(n_estimators=100,
random_state=0)
 IAE M E R*2: -0.04 #7{2| St&E|X| &2
« Random forest: 2| *"(extrapolatlon)0| o=l
- OFX| 2t Z2 4 = Hl0|E{2| EFZE 052
- A E O|o|E 2] §d4r0| ETL[O0|E2] /842 &

a0
. !
" !-. | |
SRR RN T T A
SRR A R R TR Y ~
S oy :kr l "Il.i'tv‘_!' ' .A ‘}‘?NE'.:: "Ir :l :'ﬂlil:\ T |'f'|| | LJ‘ — B2
PN . LAUMYRRRTLE (31 1LY -
o i“l:" []Ulk hh.?t’.J “ 'l ! & :L; \:LJ l L | 1||\ ‘ | 2 E?Ili
0 l"' ‘f v ‘Ld' \ Ul"l hﬂJl‘ —- HAE 93
ENB3UBS2Be-NMYMerPoRENNNMEeR®ARRE
A AME LA M N NAA E T MU ARE C T D AT XD A

EL

nipa 3=§4=E8 Pk L EE IKBC] 3528207ass
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AlZto 2 3|0

» RandomForestRegressor

» X_hour = citibike.index.hour.values.reshape(-1, 1)
» eval _on_features(X_hour, y, regressor)

» print(X_hour)
=[01[3][6][9][12] [15] [18] [21]
=[01[3][6][9][12][15][18] [21]
- H|AE ME R2 0.60 #ZTH|O|E S| F7|H A|ZI2 = OfY 2

III_
&
=D
A0
<}
< 30
= FS
=
N * :I ==
1 \J Ul\. ,‘j g | = =
: ol
fa) 4 —=— H=E 3
;3;;;__"'&*3"'e;',,'M;,:n*a;_.;.,:m;ﬁ-_;,-m;,:,.;:;_;n;,;.,'_
5 S - NP2 e~ R o= B EE R EE
- EEFEEEEEEEEEFEEEEEEEEEEEEEEEREE
b SU M 5 4 oFf rfMo w{ U M S 4 o rio i UM = 4 oF Mo w| AW gm S 4 o rio | U A

=%
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» RandomForestRegressor
» X_hour_week =

np.hstack([citibike.index. .values.reshape(-1, 1),

> citibike.index. .values.reshape(-1, 1)])

» eval_on_features(X_hour_week, y, regressor)
=[50][53][56][59]1[512][515]1[5 18] [ 5 21]
=[60][63][66][69][612][615][6 18] [ 6 21]

* HIAE ME #9 Yt AZEe| 7|8 HOoHd

249 9,312 © 050| S
h\h — =

‘J bl ' =@ 05
-— H2E 03
T T T

G

j Wik | 1 t2k il . R
i A l LE IR LN ALY
- :\:&:isfia‘as%f;a\;\.:e;: PLEH B il

' ALY {7

- g M o =T - T |
@ 888 8 6860806 8-~ =& = = = &= = f ~

...................
@ 0 0o W 9 oW N @ om0 9 M gy B 5 6 g M moWm o) M ogy @ 0 e 6 @ | m

S a8 6 8 &6 a4 85 a8 S &6 8 & ad a5 a0 8 50 a6 a0 a0 o B a8

W U &M g - 0r M0 uf SU @ o b OF Mo W SUEM S - o MO i Sl A& - of O o Sl A
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N Linear regression

» eval_on_features(X_hour_week, y, LinearRegression())
‘A2t 2 54

HAE ME

8s0| 0iX|1, F7| IfHx 0|

e A|7I0]| M0|B2 AHE O 2 Sf| A

StEo| A|ZHO| B7HESE o7t S718te M S7t2 &

60 1
=0
40
44
W 30 l
E. 1
o ' 1
T ® . | | 14044 —_—
1Pl =
‘|
10 } h J k" B:E
| 22 oy
a == HZE NF
Tr ¢ § 1T &® 1T ®™ &® 1T ¥ 71T "‘°®v "®© ¥ "7 7% T 1 T 71 T T 1
5 8838858323222 28RARARARRRAR " m
T N EEEREEEEEEEE N EEEEEEE RN NN
o o0 o g o0 o0 o0 o0 o000 006000 o000 000 o008 o0 000000
(T ¢ wrfo | S oo AME oo UgmE 4 WMo uw um
=L
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> = enc.fit_transform(X_hour_week).toarray()

= [0.0.0.0.0. .0. .0.0.0.0.0.0.0.]#77{ o4, 87§ A|Zt7t

= [0.0.0.0.0. .0.0. .0.0.0.0.0.0.]# 0tC} A|ZIOIC} SILEC| AHl+E =t
A
— |

= [0.0.0.0.0.1.0.0.0.1.0.0.0.0. 0.]# A|ZiojElo| 2= 0]l & &

= [0.0.0.0.0.1.0.0.0.0.1.0.0.0.0.]

= [0.0.0.0.0.1.0.0.0.0.0.1.0.0.0.]

=[0.0.0.0.0.1.0.0.0.0.0.0.1.0.0.]

= [0.0.0.0.0.1.0.0.0.0.0.0.0.1.0.]

» Ridge/linear

= ’f|
o * :
o i !JW“ W%'%“A Mwﬂ.% o
d AR *W‘N“ LI &N

nipa 325048558 o> EPgEHAL3 IKBCI 235ssmass



A AL E A

» poly_transformer = (degree=2, interaction_only=True,

> include_bias=False) # (15,2) =g + 15 = 105+15=120
» X_hour_week_onehot_poly =
poly_transformer.fit_transform( )

» Ir=Ridge()
» eval_on_features(X_hour_week_onehot_poly, vy, Ir)

» Ridge :A|7I1} @€ ot A st

» R%:
» RF:0.84
» LR: 0.4 Ridge
,, | |
r-gl-,!!!.“, ko ” M
By :el;.l_;-iﬁ‘E}&-ﬂt{ H;'::'Lif'QEQ:RAE!’:‘M"\)MU'[ —u
I F1 LA AP RRRT TR b 1 TERAARR) I -
: 1\“5’"5"‘5‘*-'=ﬁ\:""~’f‘.’“-"-'="-m’f‘é’?:"' WHATIE =
| BUE g - O D WY BUEN W 4 OF o uf ?nl-mvlnrnul-mzilrnnﬁbtm
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’ A Ridge coef_

» hour =["%02d:00" % i for i in range(0, 24, 3)]

> day o [“'?é-l" II-'-I_II llﬁk_ll, IIElI, ll:_ll’ IIEII’ ||°EI ||]

» features = day + hour

g e, e gy, e, 'EY 'Y, '00:00 '03:00°, '06:00°, '09:00°,

s I 5 =15 1

'12:00°, '15:00°, "18:00°, '21:007]

» features_poly =

® = °, p
10
* .t - . o« *
— L] L] o
;
e » oy - g
m o .... . [ ] .. - .® " ... ..... = ... o® ... - "
¢ ® . .
. . - oo oo ‘ °, *
10
B
o ™
.......................................................................
ME MmN Ng 2R R 8883888 88888888888 EE8 8888388888888 8888888888883 88883388888888
R P R M R A R R i e e R P R R e R
MaEnMAmAAE Y e e o o s 4440 4 o or oror or or o ornororarofofono oo wd s w s e e SUSUs U s s oY
g4 0|8
. s Heotel
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w market price Cloje{Me| 2| HE 38|

§ —= oding iET-8 ==

mmatplotlib inline

import pandas as pd
LIMECTE numpy as ng

import matplotlib.pyplot as plt

¢ Data Source: hitps
file_path fdata/market-price csv

bitcoin df = pd read csvifile path, names -
§ JlE MuE @Eiwc
printibitcoin df shape)
printibitcoin df infoil)
bitcoin df tail(

nipa 3= 5448758

wuw blockehain comrkicharts

| 'day”,

price’])

2> EF=EIC-LI

1= HHC3YS

ANZHS B HIO|E] &A1 (1/2)

IKBCI

(365 29
dclass ‘pandas core frame DataFrame')
Rangelndex: 365 entries, @ to 364
Dats columns (total 2 columns):
day 365 non-null object
price 365 non-null float6d
dtypes: floatbdi1). object(l)
memory usage: 5.8+ KB
None

day price
360 2018-08-22 000000 8576220167

361 2018-08-23 000000 G434 BB1667

Je2 2018-08-24 000000 65436845714
363 2018-08-25 000000 6718.425231
364 2018-08-26 000000 BeT3ZT74167

sREENIATNA R
Korea Blockchain Institute



ANZHS B HIO|E] &A1 (2/2)

P
5| i

bitcoin df{'day'| = pd.to.datetime(bitcoin df| day'|)

bitcoin df index = bitcoin_df|'day’|

bitcoin df set index('day’. inplace=True)

i lel B It i il -'..':

bitcoln df ploti)
plt showi
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16000 1
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12000 4
10000 1
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w00 P
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o}0]4 ARIMA ejo|E2jz| &-&

»» ARINA 29 BE57 29 ®a

from statsmodels tsa arima model import ARIMA
import statsmodels api as sm

# (AR=2 =1, HA=2) T|20EiF ARINMA YU E Wa gL
model = ARTMA(bitcoin df price values, order=(2,1,2})
model _fit = model fititrend="¢c", full ocutput=True, disp=True)
printimodel Fit sumsary(}) ARIMA Model Results
Dep, Vanabie: Dy Mo, Cbsarvations: 364
Modal: ARIMALZ, 1.2) Log Likelihood ~27B0.074
Meathod: css-mie SD. of innovations 501.536
Date: Thi Od Jul 2019 AlC 5572148
Tima: 21:4122 BIC 5505531
Sample. 1 HQIC 5581442
coef std arr z Pzl [0p25 0975]
const B3813 26044 0237 0813 46 428 50,191
arL1Dy 04496 0029 15512 0000 0393 0.506
arl 2Dy 009622 0023 -42313 0,000 =1.007 0918
mal 1Dy -{). 3889 0031 -12697 0.000 {449 1325
mal2Dy 09393 0039 23874 0.000 0B62 1016
Roots
Real Imaginary Modulus Frequency
ARY 02336 =0899235| 1.0194 02132
ARZ 02336 +0.9923| 1.0194 02132
MA.1 02070 10108 10318 -0.2178
MA2 02070 +1.0108] 1.0318 p2178
L3 A -
nipa s=sa0em 5 > E=HACLT IKBCI 5enserass



» ARINA 2% UE87|: 2 di& & oia 23 A2

b
%

fig = model_fit.plot.predict() # =5 OBl CHE o3
residuals = pd DataFrameimodel fit resid) & 30| W=S8 MARBUL, (5 Hieg J2j!
residuals plote)

20000 - —— forecast

17500 4 ——t

150:00

12500 +

10000 4

7500 4

0 %0 100 150 200 250 300 350

-2000 -
0 50 100 150 200 250 300 350
nipa 3=gLEIE8 > ®BFEHI-LT KBCI SEss e



ARIMAR H &

2 ARINA 225 BE817]: U HqojE{e] va

forecast data = model fit forecastisteps=5) 1 Glg C|0jejaeogtingy

PEAE CROIE(ALE BRI
test file path fatamarket-price-test.csv
bitcoin test df = pd read csvitest file path, names=['ds’' ‘'v*|

pred.y = forecast datal].tolist() » Op2|Q} SR8 o1& CROJEjRLCH
gE-3n
test y = bitcoin test df.y values ¢ &3 SU 203 oojEigiLc
pred v lower = || o 0p2)2 529 of& GjojE= X3y
pred.y upper = [] & OF2)9 590 of&
for lower_upper in forecast.datal2]:
lower = lower upper|d)
upper = lower upper|!]
pred_y_lower append{lower)
pred y upper appendiupper’

HOJE e RICHaIRY

plt.plotipred.y, color="gold") ¢ 220
plt.plotipred y lower, color="red") + 20| ®aH
plt.plotipred v upper, color="blue*) ¢ R0 WZ8 31 Ip
plt plotitest.y, color="green") & 24 . !

nipa s=FaesE o> E3EHIACL3

Ra)
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[Anaconda Powershell Prompt]

{pybook) C:\Users\yoonk® conda install -¢ conda-forge fhprophet

» Facebook Prophet #8357
from fbhprophet import Prophet
i |-:|.='."."'.- ""'E"' i --|'|' '|;: i ...'.| HTH 5 3-HER0) -. | I'-'

bitcoin df = pd.read_csvifile path, names=|‘ds‘. “y'])

prophet Prophet(seasonal ity mode="multiplicative’,
yearly seasonality=True,
weokly seasonality=True daily seasonmality=True
changepoint prior scale=075

prophet fitibitcoin.df)

i COLE | k2R '“-'1:._. [

future data = prophet make. future dataframe{periods=5, freg="d')
forecast data = prophet predict({future data)

‘what_upper 1] tail(s)

forecast_data(['ds’, 'vhat', ‘vhat_lower',

nipa s=5LxE L ELS ]

K

Facebook 2}0|E 22|

=2
o

ds yhat yhat_lower yhat_upper

355 201B-08-27 ©BE8BE0G10 B221587267 7562857506

ag8 2018-08-28 G953.100528 B316073545 7B12B3BIGT

387 2018-08~20 E955494028 6255320153  7709.794007

368 2018-08-30 7O15905083 6250.178248 7805851140

369 2018-0B-31 7081080511 B358B815182 7803602542
IKBCH 5rassmass



Facebook 0| =22 Z1t(1/2)

rigl prophet plotiforecast data)

pIc

v { %
L% 4 :."

e

“mitae mir e pr T “ines ETT]

fig? = prophet plot_componentsiforecast data)

" [\
500 )/

z 2000
= 1500 4
1000 = \
P '*\_/\,/1 ——
2011-10 201712 201802 2018-04 2018-06 201508
[,

nipa 3= 5448758 Z>E3=EHIACT IKBCH 3ERssmass



Facebook 0| =22 Z1}(2/2)
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nipa z=%

oll &
= )

Facebook 0| &2

»» Facebook Frophet 88617 2 CiojE|®i2]| )&

bitcoin test df = pd read csvitest file path, names=|"ds ')

P oOpRE 599 & OO Ede 20 18-88=-2T7 01 8-

pred._y forecast data.yhat values|-5

F S| i FAD :_|-|-:| 9 -L |_:| B

test v = bitcoin_test df vy values

] | | = - [W}E] ] 5

pred v _lower forecast data yhat_lower values|-5:)

g C0Z|0) S0 ofE CIOIE(R] HOETRYLICH

pred v oupper = forecast data yvhat_upper values|-5:]
plt.plotipred.y, color="gold") ¢ Ay 2 L
plt.plotipred y_lower., color="red") ¢ O] Gju8 23 jol |
plt plotipred v upper color=*blue=) » 20| maa) 2 = W = B =T [l

plt.plotitesty, color="green®) #

I
H

i

™
%]

r

og]

r
I

2> E3EHIACLI

&(1/2)
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oll &
=

Facebook 0| &2

plt plotipred v, color="gold") # ) {5 ]
plt.plotitest y. color="green") # 3| 7|3

1050 =

7000 4

6950 4

6900 +

GA50 4

600 +

BT50 4

0.0 05 1.0 1.5 2.0 25 30 3.5 4.0
rmse = sgrtimean squared erroripred y, test.yl)
print(rmse)
161 _18276853692928
e -~
ﬂlm SEFAAMAEEIFR 7 24 S EgHIL3

g(2/2)
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w 4ar U SV 2

bitcoin df pd read csvifile path, names=|'ds‘, “y'|l

§ s ..I-' -__-:'-i'I [k
bitcoin df|'cap’]| = 20686
g Bl Moo ol WAMOIEE Cl2 ol AaseiLc]

prophet = Prophet(seasonality mode= multiplicative’,
orowth="logistic",
yearly seasonality=True,
weekly seasonality=True,k daily seasonalitys=True
changepoint _prior scale=8 5)

prophet fit{bitcoin_ df

P STE LCiE0 oS8 |C)

future. data = prophet make_future dataframeiperiods=5, freq='d' o = = ———+—
L
§ WEIE SRR 17
future datal'cap’'| = 260620
forecast data = prophet predict future data) o s
(FE S
fig = prophet plotiforecast data .
MG
0
et
-
fs
PR FEET 1R FoiR-Ed FesLE Fupm e FELE R
e —~n
nipa 3=aAaEIEe > EFEHHA=LT IKBCH ERRGTERE
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biteoin test df = pd resd csvitest_file path, names=(['ds'. 'v'})

i 220 Ofa% opaE SES 1A Go|E P

pred_y forecast_data vhat values|-5:|

test.y bitcoin test df v values

pred.y_lower = forecast data yhat_ lower.values|-5:]
pred y upper = forecast_data yvhat upper values|-5:)

plt_plotipred y, color="gold"! s 2%0| g1

plt plotipred. y_lower, color="red") ¢+ 250| oj&8 a0 §22 CY

plt plotipred.y upper, color="blue®) ¢ 250| e A8 J240g

plt plotitest y, color="green") ¢ &3 223 JafmPL|c)
7000 1 ma
6750 1 0| 0fES! Y 712
6500 4
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5750 4
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5250 1 0| ofsg Sk 21

00 05 10 15 20 25 30 35 40
e —~n
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» OfaA] A3

# 15,000 0|49 gojtis odala Mo

bitcoin df = pd.read csvifile path, names=|'ds‘, ‘v’

bitcoin df loc|bitcoin df[‘y*] » 18088 ‘'¥'| = None

? prophet 29E Eg T

prophet = Prophet(seasonality mode=‘multiplicative’,
yearly_seasonality=True,
weekly seasonality=True, daily seasonality=True,
changepoint prior scale=8 5)

prophet fitibitcolin df

P 5Y CERel Q4B opaiL|c

future data = prophet make future dataframeiperiods=5, freq

forecast data = prophet predictifuture_data)

oA BANE oz gty

}

fig = prophet plotiforecast data)

plr.plotipred v, color="gold*) ¢+ 20| &S 7jH =g
plt plotitest y, color="green™) ¢ 48 2|3 J%=y
i ElAE CHOIES RNSES S RLIC)

rmse = sgrtimean_sguared erroripred y, testy))
printirmse)

nipa 3=5MEEES o> E3EHIACL3
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Shampoo Sales Dataset

3EZH 'S o mol 2kl ohst clolg Al
The units are a sales count and there are 36 observations. The original dataset is credited to Makridakis,

Wheelwright, and Hyndman (1998).

» Download the dataset.

otzfe] ofjdl= 2= ¢l Hjo|E All2| Plot2 2Est W4Tt

£ logd and plol datasat
from pandas import read_csv
from pandas import datetime
from matplotlib import pyplot
£ load agatgsat
def parser(x):
return datetine.strptime( 190"+, "&¥-¥n")
series = read_csv('shampoo-sales.csy', header=0, parse_dates=[0]; index_col=0, sgueeze=True, date_parse

r=parser)

£ suamatiza firsl faw rowe
print{series, head(})

# fina wiot

series.plot()
pyplot, show()
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oilmle) g ZI= pandas SeriesEM HIo|E|4I2 =310 X2 58S =346iC}
Month

1901-01-01  266.0

1901-02-01  145,9

1901-03-01  183.1

1901-04-01  119.3

1901-05-01  180.3

Hame: Sales, dtvpe: floatgd

HES

i

o

7t =4

1]

20F= A9 line ploto] MM =iCt,

700 A

600

400 -

300 4

200 4

100 4

Jan Jul Jan Jul Jan Jul
1901 1902 1903

Line Plot of Shampoo Sales Dataset
CISo = HHo)A ALSE 2Ho| 145 H|AE SiH|AS ST E2CL

(test harness: A|2 Gl A AH HTHES A= 2| YREOR AIHE XAst= S4sto) 4H 2= HjoiE. )
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Data Preparation and Model Evaluation

O]t A4 2 Cjo|E ZH|2t 2 HIIS HHElL

Data Split

4% Bj GlO|E S EF0|YAT HAEM 272 Liirt,
Mg 21e| glojels E2jold Blo|HAOR Fotn U2 1de| Hojes HAEMOZ Hait,
SHe o]y HlOJE{AS AHSSIPIA A 20/D HAE 0| Cist o =2 & Hojct.

Xk
(i |

k
iU

OpX9f 1259 == Chaot Z2LE

339,
", 440,
"315.
"439,
-4t
W S
R
-0,
' BB,
A8,
L SE T
" B4E.

Ldtdtdtdtdtdn:ldn:ldojojojoj
ol = e B e e B e e B e
M3 — O 000~ 03 0] e 00 R —
e Tt e B g R e R e R S
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Multi-Step Forecast

22|= multi-step =2 & zio|ch
clolej4fie] opx|ar 12708 & XIFE ol ciet 3742 o =2 sfoFetct.
ZO{El DA BE(E], 2, .. tn)22 ¢, t+], 1422 o =SHCL
£5|, 2d%te] 1282 HHE 18, 24, 322 o S6liof o0 12226 = 280 33, 432 o Fetch All the way to
an October, November, December forecast from September in year 3.
Ca2t 2ol = 10742| 371 o =o| LRsiC).
Dec, Jan, Feb, Mar

Jdan, Feb, Mar, 4pr

Feb,  Mar, Apr, May Model Evaluation

Mar, bpr, May, Jun

hpr, Maw, Jun, Jul -

May Jun, Jul, dug Ezl-0|= AlLt2|27t A2 E FHo|Ck. (also called walk-forward model validation.)

dun,  Jul, hua, Sep HIAE djo|&{4io] Z}2}o| time step2 BF tHofl LY ZIg=ICE

sl fug, Sep, Oct

hug, Sep, Oct, Hovw 2E2 fime stepd| CHE =0 AFEE=H| HIAE M EZSEH 4H = OS2 7|thi=l= ZH(dEE)2 =2 tim
Sep, Oct, Mov, Dec

e stepdl CIE2 2|5t 2EH| A2 EICE

O|HE ME22 &F HOf 2=X1S0] Z{Z19| Hoj] AFSE 4 U1 CHSEO| tIX50] AFEEl= B4 A9 AlLIZIE 2

2etc), 0|22 =3 g Al ol M E9| =0 2/3] AlE2|o]H= Ho|Ct

HIAE Hloje gl et 25 dI=2 +EotD 2} o= AlZE SHAol] oSt 2E9] 7|22 296t7| #lol @F =S A
AHBHCY,

root mean squared error (RMSE)= 2 272 =0 AFSE 0 o= Hlo|Eet 22 |50 2l Bas] 2a2 A

EICE =, 27 45 szt

I

i

™
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M
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Persistence Model

AMAHZ o =2 Qs £2 Baseline2 X4 =2Hojc},

0[Z12 OpX|Tt 2t=0| YO = FX|E= o= 2E=o|Ck

0|32 HhedmiZE 0| EF navie 8|=0|2t E2ICL

of2fe] ZAENAM AMAHGH =2 et XSH 2HE o SFEE + ﬂEH
rec

[= Ty
e How to Make Baseline Predictions for Time Series For

ret

Prepare Data

A cHl= AMAHIE HlolEE RI=Fl 84 problem22 HIR = F0|CE

*A59 2|AE0M UES mjE9] 2| AER FH= A0|CE

22|= series_to_supervised()2t2 £2|= pre-prepared function2 A2 0| S442 4= 9IC},
series_to_supervised() 20/ Cist O Y= H=E7 g7l ZTAE]

e How to Convert a Time Series to a Supervised Learning Problem in Python

Fal Pk ECEE! IKBCI 23RS
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0| B4 ofafojl 2|AEs|of QICt.

£ convart tims sarias fnto suparvisad isarning proflam
def series_to_supervisedidata, n_in=1, n_out=1, dropnan=True):

n_vars = 1 if type(data) is list else data.shape[1]
df = DataFrame(data)

Eole,: pames = skl Listr)

£ frbout saguanca ft-n, .. F-1)

for i in rangein_in, 0, -1):

cols.append{df . shift({il)
names += [{ war¥d{t-%d)" % (j+1, i) for | in range{n_vars)]

# foracast saguance (1. t+1 tfmd
for i in range(0, n_out):

cols. append{df.shift{-i})

if i ==0:

names += [{'wvarkd(t)" % (i+1)) for j in range{n_vars)]
else:
names += [{ varkd{t+%¥d)" ¥ (j+1, 11) for | in range(n_vars)]
# put ftoall topathar
agg = concatlcols, axis=1)
agg.columns = names
# arag raws with Azl valuas
if dropnan:
aga.dropnalinplace=True)
return agg

0| g4 2= AlAHE 2 n_in value 13 n_out value 32 HYTOZ Y S=T 4= QlC}
For example:

supervised = series_to_supervised{raw_values, 1, 3)

i

Kl
lockchain

2
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2oz 2alt Xi= o4 HolHAIS #2i HEe} HAE HEz &

of Fefoll M DFXI2F 10719] &2 OfX|9f sj9] ClolHE 7HA 2 RIS2

X HiojH= =3 HlolH MEE 74Tl

P2l= 2EH AHS 22| mzto|ESE Fotn 22T FHIE 9

0|HSS B2F 42 5 ULk

ot =3 S HAE NES

i

£ Prakcfors sarias fhto Eaia oand ract satc for cuparvisad jazrning

def prepare_datalseries, n_test, n_lag, n_seq):
£ axtract raw vajioac
raw_values = series.values

raw_values = raw_values.reshapellen(raw_values), 1)

£ trancfors (nto supdarvicad faarning probiam & )

supervised = series_to_supervised({raw_values, n_lag, n_seq)

superyised_values = supervised.values
£ cpidt inta tryin ang tagt Lats

train, test = supervised_values[0:-n_test], supervised_values[-n_test:]

return train, test
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Make Forecasts

ChHe BHAl= X&H o=2 st= ZiolCL

Kl£4 0| =2 persistence()0|2t= 0]122] SH4:0i| A OfX| 2t=0t x|

I__l

o= chA|o| 2 Fjst= zioz A 73

# maka a pereictance foracaet
def persistence(last_ob, n_seq):
return [last_ob for | in range(n_seq)

23 24

o

= 0| 45 2% 128 FE| 39X 927K EIAE Clo|E M E2] 2f EfY) AH

HO == A
S EE%F & 'E.-ILEL

=

ot2f= st4 make_forecasts()0ICt. 0] B4 0|H 2 st (EHY ABH =7
9l HAE Ho|HE FTtH o5 2| AEE gHaotct

£ avaluats tha pareistancs mogal

def make_forecastsitrain, test, n_las. n_seq):

forecasts = |isti)
for | in rangellen(test]]:
%, v = test[i, O:n_lagl, testli, n_lag:]

# maka forscast
forecast = persistence(¥[-1], n_seq)
£ stora tha foracast

dol
forecasts, append(forecast)
return forecasts

We can call this function as follows:

forecasts = make_forecasts(train, test, 1, 3)

nipa 32FAMEIEE 2> BE3gEHICLT IKBCI &ERssna
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Evaluate Forecasts

ofxjar tHAl= 6|52 "otehs 3olck

multi-step =2 2t time step0i| CH3t RMSES H| M2t O 24 TIIStCL ofH 20 = 37H2] RMSE E4=7 F0{Z
ct.

of2He] 8t evaluate_forecasts()= 2t time steps of|=0i| LSt RMSEZS HAtstD =246tc

# avalusia tha ANSE for sach foracast Fima stap
def evaluate_forecasts(test, forecasts, n_lag, n_seq):
for i in range({n_seq):
actual = test [, (n_lag+i)]
predicted = [forecast[i] for forecast in forecasts]
rmse = sqrtimean_squared_error({actual, predicted))
print{ t+%d PBMSE: %f' % ((i+1), rmse))

P2l Yl tlole] MEgte] M| X&s = ghofl XS tSS dEge=2n U2 =
0| 9Is oi|=2o| 2toll OpX|9f 2= ZH2 FII3i0t

of2il= plot_forecasts() &4-2| ¢io|o|EEl BFo|Ct.

We can call it as follows:

evaluate_forecasts(test, forecasts, 1, 3)

£ plat Hha foracacte [n the contaxt of tha origine! datssst
def plot_forecasts(szeries, forecasts, n_test):
# plat tha antfra aatasal in blus
pvplot.plotiseries. values)
# plat tha foracasts fn rad
for i in rangellen{forecasts)):

off_s = leniseries) - 12 + i =1

off_e = off_s + len{farecasts[il) + |

waxis = [% for % in rangefoff_s, off_e}]
vaxis = [series.valuesloff_sl] + forecasts[il

pyplot.plotixaxis, vaxis, color="red')
# show tha plat
pyplot, show()
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HFHE ¥ H A2 0 W A0S H|Rs 2}

0|Z2 LSTMO| 5712 = QU= 2 BHA|E 45 7|EE FIS s,

t+1 RMSE: 144,535504
t+2 RMSE: B5. 473305
t+3 BMSE: 121. 143168

multi-step Xi&4 0Z50] ol 212 A7 Ze| EXE Mz,
of M52 2t o0 T3t M H ple goj BT,

0| 22 X &4 oj=0| 4H 2 Lok} naivestItE Bo{ELE
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End of Documents
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